FH29EE HEGE IR FET faaht

S 3F( 22 ) 2F( 120 )& HFH( 142 Y& 12BRHAFRKEHIE

AEE 1 BHEE= 1 £ t-1: N
X 2 X 2 x 2 X 2 —
0 4
x 3 1 B 3 —— g 3 o | FH 3 —
EEE— 4 ‘ : Al 4 ) 'R 4— ] minm 4 —
ZERE 5 o 4 2T 55— 6 A¥F 5 ° REE 5 ——
tHE e —It | RigEm 6 — REE 6 WEEE 6 —
X 7 1(4) X ] — X 7 X 7 —
8 3 8

= e — EAF
: "

BHAFR 9 —

0
3
12
0
12
0
L
0
7 | B ]
X 10 X 10 X 10 ‘ 9 X 10
EREE 11— REHE= 11— wRE N, | XFHRE 11—
' I3
1
2
2
1

—

FRIRIRR Y 12 m— ) £R 12 | WE 12 0 . £X% 12 063
HE 13 0 XiE 13 BEEE 13—, 2 SR 13—
NEBE 14— 1(3) BHE 14 —-E 14 L = 14
x 15 14) x 15 x 15 0 x 15
RIFHR 16— FE 16 =— WEE=Z  16—"r =g 16—
BIE 1 — BEERE 1 —— gL 1 —— BE 1 ——
X 2 X 2 1 X 2 0 X 2 —
x 3 WILE= 3 o I RH 3 . P BIE 83—
AEAMBRES 4 “w Bt 4 —° 1 mE 4 — 0 x4 —10
®E 55—, 12 RyER 5 —— 4 BEREEL 5 o * WA 5 —
HEHT 6 2 w6 —0 | wEs 6 — | . FRas 6 —0
x 7 x 7 0 x 7 1(4) X 7 —
8

DEEEK 8 —d sz — HFEA 8 » PL —
F
mem o — e o — Hol  sanes o — H Pl e o —

x 10 ) x 10 o(3) x 10 : x 10
6 n g 48 2(2) e — ) 4 o —
Kl 1"—, BRES 11— 1) WEE= U 11 mEZE 1 4
(4 JR  Yo— K 1 5 AR pe— | [CD) AT 12 0 ” 125 12 1
EF 13 0 2 £ 13—, HEFE 13—, 1® AR 13 e
o8 | o 0 a 1
R 14 1 i 14 (1 JisE 14 0 Bl 14
X 15 0 x 15 13) x 15 2 x 15

B 16 el nEM 16 e— FHIBRTF 16 m— BE 16—|'




Bix=
X

REFX
LN
P
HiREF
X
INE
tithE
X
$7H
EEMEZ
EEW
FFAd

X

JHHE

AT
Y-
it
B
X

WEEM

11(5)

1(3)

2(5)

2(6)

1(4)

11(5)

0(2)

—ry

0(4)

—

R
FHH
ERE

B

X

REES

T4
X
5E
A
EXFIR
RO
X
B (2)
EJET
X
BRH(R)
EIMEREE
Emns
SRR
X

LN

1(3)

4—|

1(4)

0(4)

0(5)

(=) =)

2(4)

2(5)

—

1(5)

163)

—

MERK AR PE KERR—E

AT B R ILFR R, B R

RHTE LSRR

A BRERTER

AT A B 1 a2 NS B o ok

AFEIFER

FA R T BN PR

ERATLSAIDER

PR EF IR R FR

RIEE oL B AR B oA

AIPAERER

R P EE B

R ERETER




